E 3G &R

(F#7T) (F&m)
600 160
500 140
120
400 100
300 80
200 60
40
100 20
0 =—BEAE-ITRE-TEMG-TT-F-TE-45 0 =—BBEAE_TTRF_TEMG_TT-F_-TT- ¢
BZ=H=1+—HILEE —EEXRE —ZETRF —ZETMF —EER=F —ZERF
THET FET FET FET FET
(&E=7)) (&E=7)) (&ES)) (&E7))
] 569,792 569,248 425,966 448215 424,384
B ER 135,547 104,699 36,026 71,255 46,200
PTE R (72,741) (71,799) (77,209) (77,443) (51,083)
ELE=V7 %N (54,280) (37,695) (41,073) (46,845) (23,409)
RN (BB) 5F (20,843) 29,207 (71,359) (53,151) (18,802)
EEMERRREES
I s=emE
(F#mT)
4,000
3,000
2,000
1,000
0 —BBRXE —TT —ZT == “ET
—ETXRE —ZETRF ZETPF —EE= ZERF
FET FHET FHET FET FHET
(&&=7) (&E5)) (&&E5) (&&E71))
BEHE 2,416,761 2,540,136 2,543,117 2,584,162 2,711,774
BERE (940,276) (1,313,106) (1,356,379) (1,342,788) (1,427,252)
BRES 1,476,485 1,227,030 1,186,738 1,241,374 1,284,522
MIE

AEBPNRRE_TTRF— A - AR 2RMRZ S ERERZ TG EETEBMBREER ((FEVBREEL ) REBGEN (REA
T

[BEPBHSER]) RE(HETEHBREY (MPBHRERME 1 Ad) - Bt =2
EI

—HE CZT=F - CZENER-ETRFHUFET

11



